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BREDE « 5km&F 1 10002(de/T0 METE  |[HRAETIHEERK 0:20:00
SREDER + b kmEiF 2 10004|&5R & 0:20:56
BREDE « 5km&F 3 100034kt BE  |RAEERRE LFERED 0:22:13
BREDES + 5kmEF 4 10018[#0%F HkE 0:22:15
BREDE « 5km&F 5 10012[3kFE BHEF |EifEmiKk SIKE 0:23:16
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BREDE « 5km&ZF 8 10015(F2 #& 0:24:16
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BREDE « 5kmiF 13 10006(/\K 5B |EfEm_ D HFEEE 0:27:40
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BREDE « 5kmiZF 16 10005/N\BE B |IBXFEEFR 0:34:08
BREDE « 5km&F 17 10001|7EB RF1 IR 0:34:32
BREDE « 5kmiZF 18 10024|A% &y | F—LERME 0:35:31
BREDE « 5km&F 19 10026|[L# 4% |F—LERME 0:37:01
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